

Page 1 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

**Call Order: 122 Project(s):** 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt Set: Cat Alt Mem			It Member:	
0001	151006M	1.000	18,000.00000	18,000.00	29,855.70000	29,855.70		
PERFOR PAYMEN	MANCE BOND AND IT BOND	DOLL						
0003	153003P	(1)	25,000.00000	25,000.00	15,000.00000	15,000.00		
PROGRE	ESS SCHEDULE	LS						
0004	153005M	14.000	500.00000	7,000.00	500.00000	7,000.00		
PROGRE	SS SCHEDULE UPD	DATE U						
0005	153011M	2,720.000	0.01000	27.20	0.01000	27.20		
TRAINE	ES .	HOUR						
0006	154003P	(1)	390,000.00000	390,000.00	910,000.00000	910,000.00		
MOBILIZ	ATION	LS						
0019	159003M	30.000	1.00000	30.00	187.31000	5,619.30		
BREAKA	WAY BARRICADE	U						



Page 2 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 R		Roadway		Cat Alt	Set:	Cat A	It Member:	
0020	159006M	20.000	1.00000	20.00	74.92000	1,498.40		
DRUM		U						
0021	159009M	10.000	1.00000	10.00	25.54000	255.40		
TRAFFIC	CONE	U						
0022	159012M	702.000	13.00000	9,126.00	20.60000	14,461.20		
CONSTR	UCTION SIGNS	SF						
0023	159021P	418.000	180.00000	75,240.00	262.71000	109,812.78		
CONSTR	UCTION BARRIER CL	JRB LF						
0024	159027M	2.000	4,000.00000	8,000.00	3,121.76000	6,243.52		
ARROW BOARD, 4' X 8' U								
0025	159030M	2.000	25,000.00000	50,000.00	15,780.18000	31,560.36		
PORTAB SIGN	LE VARIABLE MESSA	GE U						



Page 3 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	lo / Item ID Description	·	(1) SOUTH S			STRUCTION P, INC.		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt Set:		Cat A	It Member:		
0026	159060M	1.000	4,000.00000	4,000.00	11,652.31000	11,652.31		
	RARY CRASH CUSH L BARRIER SYSTEN ES							
0027	159108M	1.000	75,000.00000	75,000.00	12,487.03000	12,487.03		
-	C CONTROL TRUCK ED CRASH CUSHIOI	_						
0028	159138M	14.000	325.00000	4,550.00	626.44000	8,770.16		
HMA PA	TCH	Т						
0029	160004M	1.000	2,900.00000	2,900.00	2,900.00000	2,900.00		
FUEL PF	RICE ADJUSTMENT	DOLL						
0030	160007M	1.000	4,100.00000	4,100.00	4,100.00000	4,100.00		
ASPHAL	T PRICE ADJUSTME	ENT DOLL						



Page 4 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

**Call Order: 122 Project(s):** 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.	(2) IEW CONS GROUF			
Alt Set	Alt Set / Alt Member Quantity		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		Roadway		Cat Alt	Alt Set: Cat Alt Membe		It Member:	
0031	160009M	1.000	1,000.00000	1,000.00	1,000.00000	1,000.00		
STEEL P	RICE ADJUSTMENT	DOLL						
0032	161003P	(1)	100.00000	100.00	17,639.10000	17,639.10		
FINAL CL	EANUP	LS						
0033	201003P	(1)	50,000.00000	50,000.00	50,000.00000	50,000.00		
CLEARIN	IG SITE	LS						
0035	202006M	8.000	500.00000	4,000.00	699.35000	5,594.80		
EXCAVA	TION, TEST PIT	CY						
0036	202009P	452.000	80.00000	36,160.00	171.89000	77,694.28		
EXCAVA	TION, UNCLASSIFIE	D CY						
0037	202021P	1,729.000	20.00000	34,580.00	52.95000	91,550.55		
REMOVA	L OF PAVEMENT	SY						



Page 5 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

Line No			(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
	203009P GGREGATE	100.000 CY	150.00000	15,000.00	87.32000	8,732.00		
	203021P AGGREGATE	8.000 CY	100.00000	800.00	278.79000	2,230.32		
	203041P ILE, ROADWAY TION	1,791.000 SY	5.00000	8,955.00	7.70000	13,790.70		
DENSE-GF	302042P RADED AGGREGA JRSE, 8" THICK	1,773.000 TE SY	17.00000	30,141.00	24.79000	43,952.67		
DENSE-GF	302051P RADED AGGREGA JRSE, VARIABLE SS	30.000 TE CY	100.00000	3,000.00	153.96000	4,618.80		



Page 6 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt Set:		Cat A	It Member:		
0043	302060P	30.000	140.00000	4,200.00	153.31000	4,599.30		
COARSE 57	AGGREGATE, SIZE	NO. CY						
0044	401009P	1,333.000	19.00000	25,327.00	13.82000	18,422.06		
HMA MIL	LING, 3" OR LESS	SY						
0045	401021M	40.000	150.00000	6,000.00	499.54000	19,981.60		
HOT MIX REPAIR	ASPHALT PAVEME	NT SY						
0046	401027M	4,640.000	1.00000	4,640.00	5.84000	27,097.60		
POLYME	RIZED JOINT ADHES	SIVE LF						
0047	401030M	650.000	0.01000	6.50	5.84000	3,796.00		
TACK CO	DAT	GAL						



Page 7 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

Line No /			(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set / Alt Member Quantity and Units		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Roadway		Cat Al	Set:	Cat A	It Member:	
0048	401036M	450.000	0.01000	4.50	1.17000	526.50		
PRIME COA	AT	GAL						
0049	401049M	295.000	125.00000	36,875.00	184.31000	54,371.45		
HOT MIX AS	SPHALT 9.5 M E COURSE	Т						
0050	401066M	295.000	120.00000	35,400.00	227.45000	67,097.75		
-	SPHALT 9.5 M 64 IATE COURSE	Т						
0051	401099M	745.000	95.00000	70,775.00	160.23000	119,371.35		
HOT MIX AS	SPHALT 25 M 64 E	BASE T						
0052	401108M	15.000	225.00000	3,375.00	291.75000	4,376.25		
CORE SAM ASPHALT	IPLES, HOT MIX	U						



Page 8 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

**Call Order: 122 Project(s):** 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member (	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt	Set:	Cat A	It Member:		
0053	602099M	1.000	800.00000	800.00	1,225.84000	1,225.84		
RESET E	XISTING CASTING	U						
0054	602108M	1.000	2,400.00000	2,400.00	1,225.84000	1,225.84		
SET INLE	T TYPE E, CASTING	U						
0055	606012P	5.000	750.00000	3,750.00	416.62000	2,083.10		
CONCRE	TE SIDEWALK, 4" TH	ICK SY						
0056	606039P	147.000	130.00000	19,110.00	106.22000	15,614.34		
HOT MIX THICK	ASPHALT DRIVEWAY	Y, 6" SY						
0057	606095P	67.000	425.00000	28,475.00	417.79000	27,991.93		
TURF PA	VERS	SY						



Page 9 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

**Call Order: 122 Project(s):** 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	o / Item ID escription	S	(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0058	607018P	62.000	45.00000	2,790.00	587.01000	36,394.62		
9" X 16" C CURB	CONCRETE VERTICA	AL LF						
0059	607034P	82.000	50.00000	4,100.00	233.40000	19,138.80		
9" X 14" C CURB	CONCRETE VERTICA	AL LF						
0060	608004P	312.000	40.00000	12,480.00	72.35000	22,573.20		
	ETATIVE SURFACE, HOT MIX ASPHALT							
0061	609003M	433.000	31.00000	13,423.00	40.85000	17,688.05		
BEAM GL	JIDE RAIL	LF						
0062	609027M	1.000	4,000.00000	4,000.00	4,376.29000	4,376.29		
TANGEN	T GUIDE RAIL TERM	IINAL U						



Page 10 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0063 609033M	2.000	2,500.00000	5,000.00	1,896.40000	3,792.80		
CONTROLLED RELEASE TERMINAL	U						
0064 609036M	2.000	2,500.00000	5,000.00	2,684.13000	5,368.26		
CONTROLLED RELEASE TERMINAL ANCHORAGE	_						
0065 609039M	3.000	1,300.00000	3,900.00	1,931.40000	5,794.20		
BEAM GUIDE RAIL ANCH	IORAGE U						
0066 609042M	2.000	100.00000	200.00	87.53000	175.06		
BEAM GUIDE RAIL POST	U						
0067 609059M	2.000	3,700.00000	7,400.00	6,161.83000	12,323.66		
APPROACH GUIDE RAIL TRANSITION TL-3	U						



Page 11 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

**Call Order: 122 Project(s):** 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	Set:	Cat A	It Member:	
0068	609075M	630.000	1.00000	630.00	2.04000	1,285.20		
REMOV	AL OF BEAM GUIDE R	AIL LF						
0069	610003M	7,200.000	1.20000	8,640.00	1.40000	10,080.00		
TRAFFIC	C STRIPES, 4"	LF						
0070	610007M	100.000	2.40000	240.00	2.80000	280.00		
TRAFFIC	C STRIPES, 8"	LF						
0071	610012M	8.000	130.00000	1,040.00	148.79000	1,190.32		
RPM, MO	ONO-DIRECTIONAL, V	VHITE U						
0072	610017M	100.000	6.00000	600.00	7.00000	700.00		
TRAFFIC	C MARKING LINES, 24	" LF						



Page 12 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt Set:		Cat A	It Member:		
0073	610018M	5.000	130.00000	650.00	148.80000	744.00		
RPM, MO AMBER I	ONO-DIRECTIONAL, LENS	U						
0074	610033M	1,100.000	3.00000	3,300.00	6.45000	7,095.00		
RUMBLE	STRIP	LF						
0075	610036M	1,700.000	2.00000	3,400.00	2.33000	3,961.00		
REMOVA	AL OF TRAFFIC STRI	PES LF						
0076	610038M	1,100.000	25.00000	27,500.00	19.76000	21,736.00		
REMOVA	AL OF RUMBLE STRIE	P LF						
0077	610060M	200.000	8.00000	1,600.00	9.34000	1,868.00		
TRAFFIC	MARKINGS SYMBO	LS SF						



Page 13 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	/ Item ID scription		(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>I:</b> 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0078	612003P	88.250	36.00000	3,177.00	51.35000	4,531.64		
REGULAT SIGN	ORY AND WARNIN	G SF						
0079	612006P	26.000	40.00000	1,040.00	56.02000	1,456.52		
	GN, TYPE GA, STEE RE TUBE POST 'S	EL "U" SF						
0800	701015P	353.000	60.00000	21,180.00	66.05000	23,315.65		
2" RIGID M	METALLIC CONDUIT	T LF						
0081	701021P	92.000	75.00000	6,900.00	93.36000	8,589.12		
3" RIGID M	METALLIC CONDUIT	T LF						
0082	701192P	181.000	5.00000	905.00	3.07000	555.67		
GROUND	WIRE, NO. 8 AWG	LF						



Page 14 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	STATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0083	701201P	543.000	5.00000	2,715.00	2.94000	1,596.42		
MULTIPL AWG	E LIGHTING WIRE,	NO. 8 LF						
0084	701210P	135.000	8.00000	1,080.00	8.67000	1,170.45		
SERVICE	WIRE, NO. 2 AWG	LF						
0085	704002M	529.000	60.00000	31,740.00	62.67000	33,152.43		
ITS CON	DUIT, TYPE A	LF						
0086	704003M	4.000	7,000.00000	28,000.00	11,366.70000	45,466.80		
JUNCTIO	N BOX ITS TYPE A	U						
0087	704009M	4.000	3,500.00000	14,000.00	4,539.68000	18,158.72		
JUNCTIO	N BOX ITS TYPE C	U						
0088	704011M	1.000	5,400.00000	5,400.00	7,760.63000	7,760.63		
METER C	CABINET ITS	U						



Page 15 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0089 704014M	1.000	2,000.00000	2,000.00	3,442.69000	3,442.69		
FOUNDATION, ITS	U						
0090 704024M	1.000	2,200.00000	2,200.00	6,021.78000	6,021.78		
FOUNDATION ITS TYPE D	U						
0091 704033P	(1)	9,000.00000	9,000.00	12,965.50000	12,965.50		
CONTROL CENTER SYSTEI LOCATION NO NJDOT CENTERS							
0092 704035M	1.000	15,000.00000	15,000.00	57,125.23000	57,125.23		
FOUNDATION CSS	U						
0093 704048M	1.000	75,000.00000	75,000.00	129,363.27000	129,363.27		
CAMERA STANDARD TYPE	A U						



Page 16 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	Title to the bridge t						
Line No / Item ID Item Description		(1) SOUTH S	STATE, INC. (2) IEW CONSTRU GROUP, INC				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0094 704060M	2.000	6,000.00000	12,000.00	8,017.37000	16,034.74		
CAMERA	U						
0095 704063M	1.000	30,000.00000	30,000.00	66,286.28000	66,286.28		
CONTROLLER, CAMERA	U						
Section Totals:			\$1,465,107.20		\$2,469,385.49		



Page 17 of 26

Contract ID: 24122 Counties: SALEM

**Letting Date:** June 06, 2024 **District(s):** S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

Contract Description: RT. 40 WB Bridge over West Branch of Game Creek

	lo / Item ID Description		(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Construction E		ngineering	Cat Alt Set: Cat A		It Member:			
0007	155018M	1.000	30,000.00000	30,000.00	38,475.63000	38,475.63		
FIELD O	FFICE TYPE F SET U	JP U						
8000	155036M	27.000	2,500.00000	67,500.00	5,119.68000	138,231.36		
FIELD O MAINTE	FFICE TYPE F NANCE	МО						
0009	156009M	1.000	10,000.00000	10,000.00	38,475.63000	38,475.63		
CURING	FACILITY SET-UP	U						
0010	156012M	25.000	1,200.00000	30,000.00	3,870.98000	96,774.50		
CURING	FACILITY MAINTEN	ANCE MO						
0011	156015M	1.000	10,000.00000	10,000.00	9,365.27000	9,365.27		
NUCLEA	R DENSITY GAUGE	U						
				<b>04.47.500.00</b>		<b>#</b> 004 000 00		

**Section Totals:** \$147,500.00 \$321,322.39



Page 18 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description			(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Se	t / Alt Member	Quantity	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0003	(No	n-Participat	ing (Roadway	Cat Alt	Set:	Cat A	It Member:	
0002	152015P		1.000	1.00000	1.00	14,110.34000	14,110.34		
POLLUT	ION LIABILITY INSUR	RANCE	DOLL						
0100	810006M		980.000	3.00000	2,940.00	3.21000	3,145.80		
MOWING	3		SY						
Secti	on Totals:				\$2,941.00		\$17,256.14		



Page 19 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

**Call Order: 122 Project(s):** 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.	INC. (2) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004 Erosion 0		Erosion Control		Cat Alt	Set:	Cat A	It Member:	
0012	158009M	2,100.000	6.50000	13,650.00	11.81000	24,801.00		
HEAVY D	OUTY SILT FENCE,	LF						
0013	158030M	2.000	75.00000	150.00	492.99000	985.98		
INLET FI	LTER TYPE 2, 2' X 4'	U						
0014	158048M	358.000	25.00000	8,950.00	68.42000	24,494.36		
FLOATIN TYPE 3	IG TURBIDITY BARR	IER, LF						
0015	158057M	2.000	100.00000	200.00	12,487.03000	24,974.06		
SEDIME	NT CONTROL TANK	U						
0016	158063P	(1)	5,000.00000	5,000.00	18,730.54000	18,730.54		
CONCRE	TE WASHOUT SYST	TEM LS						



Page 20 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

Contract Description: RT. 40 WB Bridge over West Branch of Game Creek

	o / Item ID escription		(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0004	Erosion Control		Cat Alt	Set:	Cat A	It Member:	
0017	158072M	2.000	2,000.00000	4,000.00	1,242.46000	2,484.92		
OIL ONLY	Y EMERGENCY SPILL	. KIT, U						
0018	158084M	210.000	1.00000	210.00	59.80000	12,558.00		
EROSION REMOVA	N CONTROL SEDIMEN	NT CY						
0097	806018P	45.000	3.50000	157.50	11.67000	525.15		
FERTILIZ F	ING AND SEEDING, T	TYPE SY						

**Section Totals:** \$32,317.50 \$109,554.01



Page 21 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

Contract Description: RT. 40 WB Bridge over West Branch of Game Creek

	Line No / Item ID Item Description			(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Se	t / Alt Member	Quantit	y and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005 General Lands			neral Lands	cape	Cat Alt	Set:	Cat A	It Member:	
0034	202003P		2.000	1.00000	2.00	7,427.41000	14,854.82		
STRIPPI	NG		ACRE						
0096	804000P		445.000	15.00000	6,675.00	17.51000	7,791.95		
TOPSOII	L SPREADING" 1	THICK 4"	SY						
0098	806033P		445.000	2.00000	890.00	5.84000	2,598.80		
FERTILIZ MAINTEI	ZING AND SEEDING NANCE	G, LOW	SY						
0099	809003M		490.000	2.00000	980.00	5.84000	2,861.60		
STRAW	MULCHING		SY						

**Section Totals:** \$8,547.00 \$28,107.17



Page 22 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH S	STATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006 Bridge			Cat Alt	t Set:	Cat A	It Member:	
0101 162006P	(1)	50,000.00000	50,000.00	36,609.16000	36,609.16		
VIBRATION MONITORING	LS						
0102 201006P	(1)	593,000.00000	593,000.00	200,000.00000	200,000.00		
CLEARING SITE, BRIDGE ( 1701-151	) LS						
0103 201039P	(1)	100.00000	100.00	300,000.00000	300,000.00		
TEMPORARY SHIELDING	LS						
0104 202009P	250.000	100.00000	25,000.00	167.71000	41,927.50		
EXCAVATION, UNCLASSIF	TED CY						
0105 302060P	30.000	300.00000	9,000.00	153.31000	4,599.30		
COARSE AGGREGATE, SIZ 57	ZE NO. CY						



Page 23 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	lo / Item ID Description		(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006 Bridge		Bridge		Cat Alt Set:		Cat A	It Member:	
0106	501003P	380.000	1.00000	380.00	172.06000	65,382.80		
TEMPOR	RARY SHEETING	SF						
0107	501009P	(1)	100.00000	100.00	465,389.48000	465,389.48		
TEMPOR	RARY COFFERDAM	LS						
0108	504006P	35,690.000	2.00000	71,380.00	2.87000	102,430.30		
REINFO COATED	RCEMENT STEEL, E	POXY- LB						
0109	504010P	598.000	55.00000	32,890.00	95.95000	57,378.10		
	ND GROUT RCEMENT STEEL	LF						
0110	504018P	8.000	6,000.00000	48,000.00	8,254.09000	66,032.72		
CONCR	ETE WING WALL	CY						



Page 24 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

	o / Item ID escription	5	(1) SOUTH S	TATE, INC.	(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006 Bridge		Bridge		Cat Alt	Set:	Cat A	It Member:	
0111	504024P	14.000	5,100.00000	71,400.00	7,964.05000	111,496.70		
CONCRE	ETE ABUTMENT WAL	L CY						
0112	504027P	8.000	6,500.00000	52,000.00	10,643.45000	85,147.60		
CONCRE CAP	ETE PIER COLUMN A	ND CY						
0113	504036P	18.000	125.00000	2,250.00	379.28000	6,827.04		
EPOXY \	WATERPROOFING	SY						
0114	505054P	575.000	540.00000	310,500.00	1,000.00000	575,000.00		
_	ESSED CONCRETE S FYPE SIV-48), 48" X 2	_						
0115	506006P	44.000	1,000.00000	44,000.00	953.51000	41,954.44		
_	RCED ELASTOMERIO G ASSEMBLY	U						



Page 25 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) IEW CONSTRUCTION GROUP, INC.				
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0006	Bridge		Cat Alt	Set:	Cat A	It Member:	
0116	507015P	80.000	875.00000	70,000.00	769.12000	61,529.60		
STRIP SI ASSEMB	EAL EXPANSION JO BLY	DINT LF						
0117	507024P	180.000	2,700.00000	486,000.00	500.00000	90,000.00		
CONCRETE BRIDGE DECK, HPC CY								
0118	507027M	1.000	2,000.00000	2,000.00	2,306.02000	2,306.02		
DATE PANEL U								
0119	507039P	160.000	775.00000	124,000.00	933.61000	149,377.60		
CONCRETE BRIDGE PARAPET, LF HPC								
0120	555003M	480.000	425.00000	204,000.00	451.76000	216,844.80		
SUBSTRUCTURE CONCRETE SF REPAIR								



Page 26 of 26

Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 District(s): S1

Call Order: 122 Project(s): 0040323

Contract Time: 08/11/26 COMPLETION DATE Min: Max:

Contract Description: RT. 40 WB Bridge over West Branch of Game Creek

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) IEW CONSTRUCTION GROUP, INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Castian Tatala			<b>CO 400 000 00</b>		<b>#0.000.000.40</b>		

**Section Totals:** \$2,196,000.00 \$2,680,233.16

Contract Totals	\$3,852,412.70	\$5,625,858.36	
<b>Cost Plus Time Totals</b>	\$3,852,412.70	\$5,625,858.36	

() indicates item is bid as Lump Sum

Page:



Vendor Ranking

Call Order: 122 Contract ID: 24122 Counties: SALEM

Letting Date: June 06, 2024 10:00 AM District(s): S1

Contract Time: 08/11/26 COMPLETION DATE

Contract Description: RT. 40 WB Bridge over West Branch of Game Creek Project(s): 0040323

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	SOUTH STATE, INC.	\$3,852,412.70	100.00%
2	IEW CONSTRUCTION GROUP, INC.	\$5,625,858.36	146.03%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.